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5 () A smooth sphere A, of mass m, moving avJ
with speed u, collides with an identical s A B
smooth sphere B moving with o A m
speed u. o s

The direction of motion of A, before impact,

makes an angle 45° with the line of centres at = “ kfr

impact. %‘xz = ot | e N
The direction of motion of B, before impact, \@ H0T+EW [ | Y b2 Hu ;IE’
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(i) Find, in terms of e and u, the speed of each sphere

Gii) Ife= -;— show that after the collision the angle between the directions

of motion of the two spheres is tan™ (g)
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